R VCE & PDF https://www.geekcert.com/050-v5x-caarcher01.html
' 2024 Latest geekcert 050-V5X-CAARCHERO1 PDF and VCE dumps Download

GeekCert.com

050-V5X-CAARCHER(Q1954s

RSA Archer Certified Administrator 5.x Exam

Pass RSA 050-V5X-CAARCHERO1 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.geekcert.com/050-v5x-caarcher0l1.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by RSA Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

050-V5X-CAARCHERO1 PDF Dumps | 050-V5X-CAARCHERO1 VCE Dumps | 050-V5X-CAARCHERO1 Exdr8
Questions


https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html

VCE & PDF https://lwww.geekcert.com/050-v5x-caarcher0l.html
2024 Latest geekcert 050-V5X-CAARCHERO1 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which of the following field types CAN NOT be populated using the Data Import Manager?
A. Numeric

B. Attachment

C. Cross-Reference

D. User/Groups List

Correct Answer: B

QUESTION 2

Which of the following statements best summarizes what happens when executing an advanced search that filters on
the Policy Owner field using the "Current User" filter?

A. The search results will contain only records that include the text "Current User."
B. The search results will be sorted based on the values included in the Policy Owner field.
C. The search results will contain only records that include the text "Policy Owner" in the Description field.

D. The search results will contain only the records where the user who runs the search is listed in the Policy Owner
field.

Correct Answer: D

QUESTION 3

Which of the following individuals CAN NOT create a global report?
A. Application Owner

B. Report Administrator

C. System Administrator

D. Workspaces and Dashboards administrator

Correct Answer: D

QUESTION 4
Dashboard access can be based on which of the following? (Choose three)

A. Solutions
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B. Private Fields

C. Access Roles

D. Individual Users or Groups

E. Inherited Record Permissions

F. Global Report Administrator standing

Correct Answer: ACD

QUESTION 5

Which of the following actions would a user NOT be able to do if they were assigned only Read, Update and Delete
rights to the Contacts application?

A. Delete an existing record.

B. Enter a value in the Phone Number field for an existing record but which has no current value.

C. Copy an existing record and change the value in the Name and Phone Number fields in the copied record.
D. Clear the current value from the Phone Number field in an existing record, and replace it with a new value.

Correct Answer: C

050-V5X-CAARCHERO01 050-V5X-CAARCHERO01 050-V5X-CAARCHERO01
PDF Dumps VCE Dumps Exam Questions

050-V5X-CAARCHERO1 PDF Dumps | 050-V5X-CAARCHERO1 VCE Dumps | 050-V5X-CAARCHERO1 ER4dr8
Questions


https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html
http://www.tcpdf.org
https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html
https://www.geekcert.com/050-v5x-caarcher01.html

